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Instructions. for Candidates

1. Write your Roll No. on the top immediately on receipt
~ of this question paper.

2. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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SECTIONa_ﬁ:.r A ' 13. Explain how the fiscal policy has remained a
-,.tm“" b 4

All questions are compulsory significant tool for addressing the economic fallout of

and: carry 10 marks each. the pandemic? What are the stimulus measures adopted

asht yog e & 3k gEE # 10 & 21

by Government of India amidst an uncertain evolution

of the pandemic situation?

1. An economy with the budget components (in crores) l AT TF WERIQ @ S wE 'QTT‘W = & e
is specified as follows : (10) TS S Eﬁ'@f.ﬁ FEd ST §§ 37 3
(i) Tax Revenue = Rs. 1426287 ' = Rufy & sl SN ® 9 SNE SR g S9N

MU WeEET IUE T 27
(i) Non-Tax Revenue = Rs. 207633

(iii) Recoveries of Loans = Rs. 19725 14, Provide detailed notes on the following : (3%5)

(iv) . Other Receipts = Rs.737897
_ (a) Gender Budgeting
' (v) Borrowings and other Liabilities = Rs. 1818291 1
(b) Agricultural Marketing
(vi) Total Expenditure = Rs. 3509836 :

(c) National Infrastructure Pipeline
(vii) Total Expenditure on Revenue Account =

Rs. 3083519 ‘ :
i Rrfafes ™ REd AT W&E W

Each question carries 2.5 marks Find out the

(3r) Wex st

following :
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11. Explain the structure of the revenue budget and the

capital budget of central government.
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SECTION C
Attempt any one question, which carries 15 marks.

a#qamaaarﬁ#:s JE F Bl

12. Discuss the key recommendations of Fifteenth finance
commission. Explain how Co-operative federalism may
help achieve macroeconomic stability with sustainable

levels of debt and fiscal deficit?
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(i) Revenue Receipts
(i) Capital Receipts
(iii) Total Receipts

(iv) Revenue Deficit

T TR B WA T st (s ¥) Fermr Afte
2!

(i) = T = ¥ 1426287

(i) R-= T = = 207633

(i) =% ) T@R = © 19720 .

(iv) o= witsar = & 37897

(v) Sow 3k s=1 oamw = % 1818291
(Vi) =@ =\ = 3509836

(vii) T WY R H@ =@ = T 3083500

(/% 7T W 25 s 2)
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(iv) qowEa =t

Following are some records from the Balance of
Payments Account of Country X rupees thousand

crores. (10)

BExports = 4245

Imports = 5684
In’visiﬁles .(nct)
Services =  679
Income = —140
Transfers = 592

External assistance (net) = 14

Short term credit = =7
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10.

Throw light on the trends and composition of
merchandise trade in external sector of India. Also
list the top trading partners of India in merchandise
trade. (6+2)

W & D A ¥ e SR o gl St A W
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The Indian economy has recovered past its pre-
pandemic level. Whether you agree or disagree with
this statement. Support your arguments with different

statistics on macroeconomic indicators.

Wmﬁﬁﬁ—m%w%wgﬁ%lﬂ
mm‘m%mﬁmmmﬂﬁzwﬁma&aﬁ‘ '
Wﬁﬁﬁaﬁa%maﬁaﬁmwﬁ?ﬁt

Discuss India’s progress OI the Sustainable

Development Goals in recent past.
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Discuss the measures taken by the Indian government

to keep a control over inflation over the last 2 years.

ﬁﬁzﬁﬁmwmm%mwm
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Indian government has taken various measures to
éugment production, domestic supply, crop
diversification etc in the recent past in the agriculture

sector. Discuss.

mm%m%ﬁﬁ#wéﬁ#mm,@q_mﬁ,
mﬁﬁﬁmmﬁaﬁ“ﬂﬁ%ﬁqﬁmﬁq%
e+

Elucidate on the impact of Covid on the performance

of industrial sector in the Indian economy.
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" External Commercial Borrowing (net) = 10
Banking capital (net) = 17

Foreign Investment (nét) = 75

Other capital flows = 30

Errors and Omissions = —.12

Based on the above information, answer the following

questions :
(i) Trade Balance

(i) Current Account Balance

- (iii)) Overall Balance

(iv): Whether the foreign exchange increase or
decrease and by how much?

(Each question carries 2.5 marks)
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Faf = 4245
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Fa| = 5684
sz (T8)
Aq¢ = 679
F@ = -140
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(i) g E_ A

(iif) = W
(iv) ﬁ%a‘ﬁgaraz{é’r%maﬁr% 3t TRt ?
(v WE T W 2.5 Fw B)

SECTION B

P e —————

Attempt any Five questions,

which carries Eight marks each.
fa=dl e R @ EA R,
frit @ yew & WS FH B

Hdw the union budget is prepared. How it is presented
in the parliament. Analyse the implementation of the

government budget?

%ﬁum%&ﬁqﬁmmﬁ?ﬁmﬁﬁwm
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Comment on the monetary policy and liquidity
operations in the Indian economy since the beginning

of Covid pandemic.
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